
 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 20

5000

10000

15000

20000

25000

 / ndf 2χ  50.45 / 9

Constant  8.67e+01± 2.48e+04 

Mean      0.000401±0.003391 − 
Sigma     0.0004± 0.1302 

=143, p=[1.0,12.0]σ

 KinFit MC+π

 KinFit Data+π

 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 2

0

5000

10000

15000

20000

25000

 / ndf 2χ  41.59 / 9

Constant  8.647e+01± 2.466e+04 

Mean      0.000405±0.003369 − 

Sigma     0.0004± 0.1308 

=143, p=[1.0,12.0]σ

 KinFit MC-π

 KinFit Data-π

 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 2

0

5000

10000

15000

20000

25000

 / ndf 2χ  101.7 / 9

Constant  1.335e+02± 2.469e+04 

Mean      0.00063± 0.02481 

Sigma     0.0007± 0.1306 
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Constant  1.335e+02± 2.469e+04 
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 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 2

0

5000

10000

15000

20000

25000

 / ndf 2χ  59.88 / 9

Constant  1.310e+02± 2.457e+04 

Mean      0.0006± 0.0254 

Sigma     0.0006± 0.1289 

 / ndf 2χ  59.88 / 9

Constant  1.310e+02± 2.457e+04 

Mean      0.0006± 0.0254 

Sigma     0.0006± 0.1289 
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